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QUESTION 1

High-disk IOPS (I/Os per second) rates are leading to longer execution times. Which three approaches would you use to
improve this scenario?

A. Enable Write-Back Flash Cache due to heavy DBWR usage.

B. Enable Write-Back Flash Cache due to heavy LGWR usage.

C. Swap hard disks to High Capacity disks.

D. Tune the application to reduce I/O requests. 100% Real QandAs | 100% Real Pass
E. Leverage IORM to give priority to critical workloads.

Correct Answer: BDE

QUESTION 2

Which two statements appropriately describe the backup and recovery procedures on Exadata?

A. Cell software backup is automatic and cell recovery is accomplished by using a rescue procedure.

B. Data stored in a database is backed up and restored by using CellCLI commands.

C. Database server software backup is automatic and recovery is accomplished by using a rescue procedure.

D. Data stored in a database is backed up and restored by using RMAN commands.

E. Cell software backup is performed through CellCLI and cell recovery is accomplished by using a rescue procedure.

Correct Answer: AD

QUESTION 3

Which two DML operations will add rows compressed by Hybrid Columnar Compression (HCC) to a table that is created
to use HCC?

A. INSERT
B. INSERT with an APPEND hint
C. UPDATE
D. CREATE TABLE AS SELECT

Correct Answer: BD

QUESTION 4
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Which statement is true about instance caging setup?

A. Instance caging is the right approach to make sure that database instances are not stealing memory from each
other.

B. The CPU Resource Manager and IORM need to be enabled to make instance caging to work as expected.
C. Database instances need to be restarted to make changes to cpu_count effective.

D. For a system with 16 threads, the sum of cpu_count for all databases should not be higher than 32 to prevent
oversubscribing

E. The init.org parameter resource_manager_plan should be set.

Correct Answer: D

QUESTION 5

What are the three customer options for hosting the Platinum Services Advanced Support Gateway?
A. Install on Exadata Engineered System.

B. Provide individual x86 64-Bit gateway hardware.

C. Install in Oracle Virtual Machine with required hardware.

D. Install on Oracle Database Appliance.

E. Purchase the recommended x86 64-Bit gateway hardware from Oracle.

Correct Answer: ACE
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